Problem 11-12

1. The reports as presently being prepared are of little usefulness to the company. The problem is that the company is using a static budget approach, and is measuring budgeted performance at one level of activity against actual performance at another level of activity. Although the reports do a good job of showing whether or not the budgeted level of activity was attained, they do not tell whether costs were controlled for the period.

2. The company should employ a flexible budget approach in evaluating control over costs. Under the flexible budget approach, the actual costs incurred during the quarter in working 25,000hours should be compared against budgeted costs at that activity level.

3.                                                                   SHIPLEY COMPANY

Overhead performance report---milling department

For the quarter ended June 30

Budgeted machine-hours






30,000 hours

Actual machine-hours






25,000
hours







Cost formula
Actual

Budget

Spending or


Overhead costs



(per MH)
25,000hr
25,000hr
budget variance

Variable overhead costs:





Indirect labor



 $0.75

$20,000

$18,750

$1,250
  U


Supplies




 0.20

    5,400
   
    5,000
    
     400     U


Utilities




 1.00

  27,000

  25,000

  2,000
  U


Rework time



 0.50

  14,000

  12,500

 1,500      U

Total variable costs



$2.45

 66,400

 61,250

 5,150    U

Fixed overhead costs:


Maintenance





 61,900

 60,000

 1,900    U


Inspection





 90,000

 90,000

   -----

Total fixed costs






151,900

150,000
 
1,900     U

Total overhead costs




          $218,300
           211,250
            7,050   U

Problem 11-13
1. 
Direct materials, 4 pounds at $2.6



$10.40


direct labor, 2 hours at $9




  18.00


variable overhead, 2 hours at $3.80*


    7.60


fixed overhead, 2 hours at $7**



  14.00



standard cost per unit



$50.00
*  $34,200 ( 9,000 hours = $3.80 /DLH

** $63,000 ( 9,000 hours = $7 /DLH

 2. Materials variances:
AQ(AP - SP) = Materials price variance




30,000 lbs. ($2.50 - $2.60) = $3,000 F



SP(AQ - SQ) = Materials quantity variance


$2.60 (20,000 lbs. - 19,200 lbs.*) = $2,080 U

* 4,800 units x 4 lbs. Per unit = 19,200 lbs.

Labor variances: 
AH (AR - SR) = labor rate variance




10,000 hrs. ($8.60 - $9.00) = $4,000  F


SR (AH - SH) = labor efficiency variance


$9 (10,000 hrs. - 9,600 hrs.*) = $3,600   U

* 4,800 units x 2 hrs. = 9,600 hrs.

3. variable manufacturing overhead variances:

   actual hours of  input,

     actual hours of input,


Standard hours allowed for 

at the actual rate (AHxAR)

at the standard rate (AhxSR)
      output, at the standard rate(SHxSR)


$35,900



    10,000 hrs. x $3.80  


9,600 hrs. x $3.80







=$38,000


     = $36,480

spending variance = 38,000 - 35,900 = $2,100 F

efficiency variance = 36,480 - 38,000 = $1,520 U

Total variance = 2100 - 1520 = $580 F

Fixed manufacturing overhead variance:

   Actual fixed overhead cost

flexible budget fixed overhead cost

fixed overhead cost applied to 

          .










work in process       


   $64,800



$63,000



            9,600 hrs. x $7












= $67,200

budget variance = 63000 - 64800 = $1,800 U

volume variance = 67200 - 63000 = $4,200 F

4. The choice of a denominator activity level affects standard unit costs in that the higher the denominator activity level chosen, the lower standard unit costs will be. The reason is that the fixed portion of overhead costs becomes spread more thinly as the denominator activity figure rises. Thus, the manager must take care in the choice of a denominator activity if he or she is to have timely and useful data for costing and planning purposes.

Problem 11-17

1. by use of the simple high-low method, 
จากโจทย์ utility 
 49000-41000/50000-40000 =0.8/MH


utilities VC:
0.8 x 40000 = 32000

FC = 41000 - 32000 = 9000




0.8 x 50000 = 40000            

FC = 49000 - 40000 = 9000


supplies
5000 - 4000 / 50000 - 40000 = 0.1/MH




VC = 0.1 x 40000 = 4000
FC = 4000 - 4000 = 0 (ไม่มี fixed cost)


indirect labor 10000 - 8000 / 50000 - 40000 = 0.2/MH




VC = 0.2 x 40000 = 8000       ไม่มี fixed cost


  maintenance 41000 - 37000 / 50000 - 40000 = 0.4/MH




VC = 0.4 x 40000 = 16000    
FC = 37000 - 16000 = 21000

ELGIN COMPANY

Flexible budget

    
Overhead costs

cost formulas


          percentage of capacity                        .








80%
 

90%


100%

Machine-hours





40,000


45,000


50,000
Variable overhead costs:


Utilities


$0.80/MH

$32,000


$36,000


$40,000
Supplies

  
  0.10/MH

    4,000

 
    4,500

  
    5,000


Indirect labor

  0.20/MH

    8,000

    
    9,000

  
  10,000


Maintenance

  0.40/MH

  16,000


  18,000


  20,000
Total variable costs

$1.50/MH

  60,000


  67,500


  75,000
Fixed overhead costs:


Utilities





    9,000


   9,000


   9,000



Maintenance




  21,000


 21,000


 21,000


Supervision




  10,000


 10,000


 10,000
Total fixed costs





  40,000


 40,000


 40,000
Total overhead costs



         $100,000
   
         $107,500
      
         $115,000

2. cost formula for all overhead costs(per month) :

total overhead cost = 40000 + 1.5per machine-hour

3.   





    ELGIN COMPANY

Performance report For the month of May

Budgeted machine-hours








40,000

Standard machine-hours allowed







41,000

Actual machine-hours








43,000*

Overhead costs

cost formula
actual cost
budgeted cost
spending variance




(per MH)
(43,000MH)
(43,000MH)

variable overhead costs:


utilities


$0.80

$33,540**
$34,400

$   860
F


supplies


  0.10

    6,450

    4,300

  2,150
U


lndirect labor
 
  0.20

    9,890

    8,600

 1,290
U


maintenance

  0.40

  14,190**
  17,200

 3,010
F

total variable costs

$1.50

  64,070

  64,500

    430
F

fixed overhead costs:


Utilities




    9,000

   9,000




Maintenance



  21,000

 21,000





Supervision



  10,000

 10,000

 -------

Total fixed costs




  40,000

 40,000

-------

Total overhead costs


          $104,070
          $104,500
      $      430
F
*86% x 50000 MH = 43,000MH

**$42,500 - 9000(FC) = $33,540

   $35,190 - 21,000 (FC) = $14,190

4. The unfavorable spending variance could be the result either of price increases or of waste, Unlike the price variance for materials and the rate variance for labor, the spending variance for variable overhead measures both price and waste elements. This is why the variance is called a "spending" variance. Total spending can be affected as much by waste as it can by greater (or lesser) prices paid for items.

5. SR(AH - SH) = efficiency variance

$1.50 (43000 - 41000) = $3,000 U

As stated in the text, the overhead efficiency variance is really misnamed, since it does not measure efficiency (waste) in use of variable overhead items. The variance arises solely because of the inefficiency in the base underlying the incurrence of variable overhead cost. If the incurrence of variable overhead costs is directly tied to the actual machine-hours worked, then the excessive number of machine-hours worked during May has caused the incurrence of $3,000 in variable overhead costs that would have been avoided had production been completed in the standard time allowed. In short, the overhead efficiency variance is independent of any spillage, waste, or theft of overhead supplies or theft variable overhead items that may take place during a month.

